15 A (318) HhI=YDiEsF A

I ABEZSHMEDES

A EEE NR—LESCHIE (TEER)

RIS |nmms| Bes | sz | e
= 1R 0 9,300 29,788
i) 20488 FE2RME| 11470 13020 44,978
51* EIERME| 11470 20,150 52,108
EARRME| 26,505 43,152] 90,145
= F1ERRE 0 9,300 30,428
gé 1 21128 EORME| 11470 13020 45618
T Ul smaEms | 11.470] 20,150 52,748
é EARRME | 26,505 43,152| 90,785
K = F1ERRE 0 9,300 32,786
= | a486 wmofmE | 11470 13020 47,976
2 Ef Ul 3R | 11.470] 20,150 55,106
i EARRE | 26,505 43,152 93,143
A = F1ERRE 0 9,300 35,078
% A | psomg F2BME| 11470 13020] 50268
o Efz V| #aEms | 11470 20150 57,398
EARRME | 26,505 43,152 95435
= F1ERRE 0 9,300 37,336
) 28,036 FE2RkME| 11470 13020] 52,526
Eg EIERME| 11470 20,150] 59,656
FEARRRE | 26505 43152 97,693

X1 ERE. EFE. AABARFEIREZHMNSE TV LEET,

SHTEI0F1BRAE

RIS |amrs| Ben | sm | aH
= 1R 9,920 9,300 39,708
i) 20488 FE2%ME| 13020 13,020 46,528
51* HEIERME | 25420 20,150 66,058
FARRE| 36,301 43,152 99,941
= 1R 9,920 9,300 40,348
i) 21128 FEORRME| 13020 13020 47,168
E; HEIERME | 25420 20,150 66,698
FARRE| 36,301 43,152 100,581
gg = 1R 9,920 9,300 42,706
i j; SausE FEORRME| 13020 13020 49,526
1'@ ﬁg HEIERME | 25420 20,150 69,056
= EARRRE | 36,301 43,152 102,939
= 51 ERRE 9,920 9,300 44,998
f; 25,778 FE2RkRE| 13020 13020 51,818
ﬁz HEIERME | 25420 20,150 71,348
EARRRE | 36,301 43,152 105,231
= 1R 9,920 9,300( 47,256
P\ 28,036 FE2RkRE| 13,020 13020 54,076
Eg EIEME | 25420 20,150 73,606
FEARME | 36,301 43,152| 107,489




15 A (318) HhI=YDiEsF A

I REESI2EDES

A EEE NR—LESCHIE (TEER)

RIS |nmms| Bes | sz | e
= 1R 0 9,300 50,276
i) 40976 FE2RME| 11470 13,020 65,466
51* EIERME| 11470 20,150 72,596
EARRME| 26,505 43,152] 110,633
= F1ERRE 0 9,300 51,556
gé 1 42956 FEORME| 11470 13020 66,746
T Tl smaEme | 11.470] 20,150 73876
é EAERRE | 26505 43,152] 111,913
K = F1ERRE 0 9,300 56,272
= | 46972 womE | 11470 13020 71462
2 Ef TUUl saEme | 11.470] 20,150 78,592
i EA4RRE | 26,505 43,152 116,629
A = F1ERRE 0 9,300 60,856
% N | g gsgl B2EE| 11470] 13020[ 76046
o E;% Ul #3EmE | 11470 20,150 83,176
EARRE [ 26,505 43,152 121,213
= F1ERRE 0 9,300 65,372
) 56.072 FE2RkME| 11470 13020 80,562
Eg E3EEME | 11470 20,150 87,692
FEARRE | 26,505 43,152] 125,729

X1 ERE. EFE. AABARFEIREZHMNSE TV LEET,

SHTEI0F1BRAE

RIS |amrs| Ben | sm | aH
= 1R 9,920 9,300/ 60,196
i) 40.976 FE2RRME| 13020 13020 67,016
51* HEIERME | 25420 20,150 86,546
FEARME | 36,301 43,152| 120,429
= 1R 9,920 9,300 61,476
i) 42256 FE2RRME| 13020 13020 68,296
E; HEIERME | 25420 20,150 87,826
FEA4RRE| 36,301 43,152| 121,709
gg = 1R 9,920 9,300 66,192
i j; 46072 FE2RRME| 13020 13020 73,012
1'@ ﬁg HEIERME | 25420 20,150 92,542
= EARME | 36,301 43,152 126,425
= 51 ERRE 9,920 9,300 70,776
f; 51.556 FE2RkME| 13,020 13020 77,596
ﬁz HEIERME | 25420 20,150 97,126
EARRRE | 36,301 43,152 131,009
= 1R 9,920 9,300( 75,292
P\ 56.072 FE2RkRE| 13,020 13020 82,112
Eg EIEME| 25420 20,150| 101,642
FEARME | 36,301 43,152| 135525




15 A (318) HhI=YDiEsF A

I HEZSHAEIDES

A EEE NR—LESCHIE (TEER)

RIS |nmms| Bes | sz | e
= 1R 0 9,300 70,764
i) 61.464 E2RkME| 11470 13,020 85,954
51* EIERME| 11470 20,150] 93,084
FEARRME | 26,505 43,152| 131,121
i = F1ERRE 0 9,300] 72,684
gé i 63.384 E2RME| 11470 13020 87,874
T U wampe| 11470 20150 95,004
é EARRE | 26505 43,152 133,041
rZE = F1ERRE 0 9,300 79,758
= | ouss wofEmE | 11470 13,020 94,948
2 Ef Ul 3R | 11.470] 20,150 102,078
i EARRE | 26,505 43,152] 140,115
A = F1ERRE 0 9,300 86,634
% N Zomps|  11470] 13020 101,824
- EZ EIRME[ 11470 20,150 108,954
EARRE | 26,505 43,152| 146,991
= F1ERRE 0 9,300 93,408
) 84108 FE2RkME| 11470 13,020 108,598
Eg E3EEME | 11,470 20,150] 115,728
EARRE| 26505 43,152] 153,765

X1 ERE. EFE. AABARFEIREZHMNSE TV LEET,

SHTEI0F1BRAE

RIS |amrs| Ben | sm | aH
= 1R 9,920 9,300/ 80,684
i) 61.464 FE2kME| 13020 13,020 87,504
51* HEIERME | 25420 20,150 107,034
EARRE| 36,301 43,152 140,917
= 1R 9,920 9,300 82,604
i) 63.384 FEORME| 13020 13020 89424
E; HEIERME | 25420 20,150 108,954
FEARRE| 36,301 43,152 142,837
‘IE 1R 9,920 9,300| 89,678
ﬁ ?} 70458 FEORRME| 13020 13020 96,498
i ﬁf mamms | 25420 20,150] 116,028
= EARME | 36,301 43,152 149,911
= 51 ERRE 9,920 9,300/ 96,554
P\ 77,334 FE2RkRE|  13,020| 13,020( 103,374
ﬁf* w3 | 25420 20150] 122,904
EARRE | 36,301 43,152 156,787
= 1R 9,920 9,300( 103,328
P\ 84108 FE2RkME| 13,020 13,020 110,148
Eg EIEME | 25420 20,150 129,678
FEARME | 36,301 43,152 163,561
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